TI-83/84 Normal Distributions
You can use the TI-83/84 calculator to find the area (or probability) between points a and b under a normal distribution curve with mean
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Press 2ND and DISTR (above the VARS button).  Arrow down and select 2: normalcdf( which stands for normal cumulative density function.
Enter a (lower bound), b (upper bound), 
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(mean), and 
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(standard deviation) separated by commas and then press ENTER and the TI-83/84 will calculate the area under the normal curve between these two values.  If the lower bound is -∞ then use –E99.  If the upper bound is +∞ then use E99 (E99 is above the comma key). 
Example 1:  Calculate P(z<1.35)

Since z is given we know this is a standard normal distribution with μ=0 and σ =1.  

Press 2nd DISTR and select 2: normalcdf(lower bound, upper bound, mean, and standard deviation).
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Example 2:  The age of employees at a manufacturing plant are normally distributed, with mean 45 years and standard deviation 12 years.  An employee is stopped at random and asked to fill out a questionnaire.  What is the probability that the employee is between 35 and 55 years old?

We want the area under the normal curve between 35 and 55 with μ = 45, σ = 12.
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Example 3:  The weight of 3rd graders is normally distributed with a mean of 60 lbs and a standard deviation of 4 lbs. What is the probability that a 3rd grader weighs more than 55 lbs?  

We want the area under the normal curve to the right of 55 with μ = 60, σ = 4.
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You can also use the TI-83/84 to calculate probabilities that the sample mean,
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 will fall in a given interval of the sampling distribution.  First calculate the standard error of the mean,
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, and enter this value as your standard deviation in normalcdf(lower bound, upper bound, mean, standard deviation). 

Example 4:  The weight of 3rd graders is normally distributed with a mean of 60 lbs and a standard deviation of 4 lbs. What is the probability that a sample of 40 3rd grader will have a mean weight less than 58 lbs?  

We want the area under the normal curve to the left of 58 with μ = 60, σ = 4/√40.
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This answer is in scientific notation:  7.828 x 10-4 = 0.0007828 = 0.001 when rounded to the thousandths place.
_1081876286.unknown

_1081876705.unknown

_1082137940.unknown

_1081876674.unknown

_1081876263.unknown

_1079505202.unknown

